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—FAel R 1,000,000 1,000 0 1,000
206 T 2t 460 0 460
EET 460 0 460
OsZ2sa Az WETY 460 0 460
—MI BYH 2E Y 1,730 =400H 70 0 70




SN SYISUE
H: sy el
ol METE ZAsl CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2

—SZd MEA 20 SEA 7Y

30,0002 +32 9 0 90

—EIA B 33X 7Y 50,0002 *32 150 0 150

~HA8E 2 4E 7 50,0009 +3% 150 0 150

405 THaHF St 5,400 0 5,400

01 T 2B St 5,400 0 5,400

OsZ282 HIE 7Y 5,400 0 5,400

~"4I 7Y 1,200, 0002 2CH 2,400 0 2,400

—3loa HE 7Y 3,000,000%! 3,000 0 3,000

sAxE 22l 21,897,161 21,618,802 278,359

2 12,527,230 12,388, 171 139,059

X 573,000 573,000 0

o] 15,210 24,000 £8,790

< 1,310,587 1,213, 139 97,448

2 7,471,134 7,420,492 50,642

A2 AT 12,799,468 12,831,358 £31,890

2 9,773,837 9,802,837 29,000

X 278,000 278,000 0

o] 1,210 0 11,210

< 288,876 281,736 7,140

2 2,447,545 2,468,785 ~21,240

HE2F &% 690,000 695,000 5,000

402 Q12HT 20| & 25,000 30,000 5,000

B EETEES 25,000 30,000 A5,000

OHSEF Aae 25,000, 0002 25,000 30,000 5,000

sug FYM 54 405,000 457,200 A52,200

2 225,000 254,000 29,000

< 54,000 60,960 6,960

2 126,000 142,240 A16,240
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TEEE 6,115 10,000 £3,885
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— =0y 0| AADHK 24
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—szozeY 2y 277,485,0002 277,485 225,200 52,285
x 221,668 179,846 41,822
< 16,745 13,606 3,139
2 39,072 31,748 7,324
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01 QI HEMYEX 391,792 392,536 AT44
OZH EX ALY 391,792 392,536 AT44

—THAMAAAE SHEXH
118,512,000€ 50/ 100 59,256 60,000 AT44
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